£ o
(G <\

KN [ EKE

COMPONENTI INNOVATIVI TECNOMECCANICI

ROl DERS FOR CNG LARSISS

CMZ




TLI5T/M/TM/S/MS
CM TB46/67 M/CM MIYANQO ABX 51/64 THY / SYY

Faceand OD. —

cutting holder
Qualified tool
20x20 mm
<P Faceand 1D,
cutting holder
Faceand OD.
cutting holder Eli
KTL15/10000/07
CONNECTION
20 30

Faceand OD. — \Y\
cutting holder {} Ny /&
%

KTLIS/10000/8 4 o =
.Q ACCESSORIES N
4 - @ N
Combi toolholder W
|_|J for boring bar and o
|— insertdril with internal %
Z coolant 75
-_— @40 mm
\
KTL15/10000/12 5 Boring bar sleeve
— @‘ 165-64241 (@16 mm)
165-64243 (@20 mm)
Contitoohold 165-64244 (@25 mm)
ombi toolholder
for boring bar and 165-64245 (232 mm)
insertdril with internal I
coolant
@40 mm
Boring bar holder Boring bar sleeve
_» 165-62545 (@12 mm)
@25 mm - @ 165-62547 (@16 mm)
165-62549 (20 mm)
KTL15/10000/11




20

CONNECTION

30

16

I

s
N

25H7

D

30

' 70

90

A
\

]/

an
N

65

15

44

PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS

KTL15/10000/07

811-104030

‘
3
°| @ <
\
t 1225 _
| @
A 3 ZF A
(] en) B - o
\ \i
(R TR
| %ﬂ Kﬂ
CLAMPING CLAMPING
CODEN. SCREW PLATE
=
RERE

832-002222

COOLANT
BALL

COOLANT BALL

SEE=

833-001470

KNTEK B




PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS

A
A |
© %

I \

1@ is
o S
yi= 2l | e

Y (b%

mg L
P

SE:
‘, @Lé
_ 120 .
GOEn CLAMPING CLAMPING COOLANT SCREW FOR
: SCREW PLATE BALL COOLANT BALL
=
L M=
KTL15/10000/06 811-104030 832-002223 833-001470 811-108018

KINTEK B

PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS
A

@ I

44

36
L
J
2

—

-

f
S
A
S

3

A | A

oo
D <
2, g
N\
| oL )
B 155 _
CODE N CLAMPING CLAMPING COOLANT SCREW FOR
: SCREW PLATE BALL COOLANT BALL
=
RS
KTL15/10000/45 811-104030 832-002223 833-001470 811-108018




PORTAUTENSILE ASSIALE - AXIAL TOOLHOLDERS

-
&

o
[op}
| D D
CODEN CLAMPING CLAMPING COOLANT SCREW FOR
: SCREW PLATE BALL COOLANT BALL
=
RS
KTL15/10000/08  811-104030 832-002223 833-001470 811-108018

PORTAUTENSILE COMBINATO PER BARENI E PUNTE A INSERTI
COMBI TOOLHOLDER FOR BORING BAR AND INSERTDRILL

69

4040.02

s
D D H
Y @ [
8 -
T & & [

f

D

f

D
\

CLAMPING SCREW COOLANT SCREW FOR
CODE N. SCREW COVER FOR COVER BALL COOLANT BALL
1€ [ 8= 3
g Ao ——J
KTL15/10000/12 811-104030 832-003063 811-101016 833-001470 811-108018

KNTEK B

COMPONENTI INNOVATIVI TECNOME

0

5




PORTAUTENSILE COMBINATO PER BARENI E PUNTE A INSERTI
COMBI TOOLHOLDER FOR BORING BAR AND INSERTDRILL

©
©
©
)
)
[T 117

e H<£ [ 0= o 5B

KTL15/10000/38 811-104029 811-104030 832-003063 811-101016 833-001470 811-108018

B S
Lhi él
60 #
D O
%_ -
2 <+ ' 3
- @A A
N\ —
55
135
CODE N CLAMPING SCREW1 | CLAMPING SCREW2 COVER SCREW COOLANT SCREW FOR
: (M10X20) (M10X25) FOR COVER BALL COOLANT BALL

12
- BUSSOLA PER PORTABARENI
¥ BORING BAR SLEEVE FOR TOOLHOLDER
E 4 R\
< 1 @’q}\
Y, By
o sciRe
ol
Nz
D\ P
Nz
I
CODENN. CREwe | BT | cOGLANT BALL
=€ S

T (NNOVATIVI TEGNOMEGGANIC!



BMT, BOLT-ON, DIN69880-

BUSSOLA PER PORTABARENI

BORING BAR SLEEVE FOR TOOLHOLDER

L2 L3
<C
(. 2
| Lyl N o VA
Q E AN - ié?%
> ////
L 3
L1
165-62545 25 12 54 66 8,5 32 13 32
165-62547 25 16 54 66 8,5 32 13 32
165-62549 25 20 54 66 8,5 32 13 32
165-64241 40 16 74 88 9 51 14 48
165-64243 40 20 74 88 9 51 14 48
165-64244 40 25 74 88 9 51 14 48
165-64245 40 32 74 88 9 51 14 48

KINTEK

sponsor

WORLD SUPERBIKE
2021

PORSCHE MOBIL 1
SUPERGUR FPCORSCCHE

2021

KNTEK B

COMPONENTI INNOVATIVI TECNOMECCANIC| /i




© BMT, BOLT-ON, DIN69880 HOLDERS

KINTEK B

DMG MORI

CL 200/203

SL 20/25

SL 203/204/250/253

SL 254 (MC, SMC)/2500Y
SL 203MC

SL 253MC

ZL 200MC

ZL 250SMC

SL 204SMC

SL 300MC

Direct mounting
onturret

Faceand OD.
cutting holder

Faceand OD.
cutting holder

Boring bar holder

KMS-T10036 (@40 mm)
KMS-T10044 (@50 mm)

Boring bar holder

KMS-T10038 (@40 mm)
128-22519 (@50 mm)

Cover:832-003063

Combi toolholder

for boring bar and
insertdril with interal
coolant

@40 mm

Boring bar holder

@32mm

Boring bar holder

@32mm

CMZ

TBI 520

TL 20/25

TC 15/20/25/30/35
TA 15M/Y/MS/MY/YS
TA 20M/Y/MS/MY/YS
TA 25M/Y/MS/MY/YS
TA 30M/Y/MS/MY/YS
TD 15/20/25/30/35/45
TD 55M/Y/MS/MY/YS

Qualified tool
25x25mm

<>

g KMS-T00082

7 Cut-off holder o
fe] ? )
0
KMS-T00156
ACCESSORIES
KMS-T22046 <MT2>
Boring bar sleeve D40
KMS-T20098 (@32 mm
KMS-T20090 (@12 mm
KMS-T20088 (@10 mm
KIMS-T20086 (@8 mm)
165-64243 (@20 mm
)
1 c/’ 165-64244 (925 mm
@ 165-64245 (@32 mm
Boring bar sleeve D50
16565017 (225 mm)

Drill socket D40
KMST22042 <MT3>
)
P KMS-T20096 (@25 mm)
v KNS T20094 @20 )
I Q\ KMS-T20092 (@16 mm)
( )
( )
Boring bar sleeve D40

165-64241 (@16 mm

165-65018 (@32 mm)
165-65019 (@40 mm)

Boring bar sleeve

T Q\’ KMS-T20122 (@25 mm)
KMS-T20120 (@20 mm)
KMS-T20118 (@16 mm)
KMS-T20116 (@12 mm)
KMS-T20114 (@10 mm)
KMS-T20112 (@8 mm)
Boring bar sleeve
165-63347 (216 mm)
165-63349 (320 mm)
165-63350 (25 mm)

77

Faceand OD.
cutting holder

Faceand |D.
cutting holder

Cut-offtool
2525mm

GOODWAY

GS 200/260/280
GA 2000/2600/2800
GA 3000/3300/3600

Faceand OD.
cutting holder

Poligonal
12812527 (C40)
128-12513(C50) @
Driven tools
FAST-IN

124-00001 124-00003
124-00002 i.coolant 124-00004 .coolant
CONNECTION
G
N
N DM
0 N\ ANY)
0 3
7

Boring bar holder

Poligonal

128-12526 (C40)
128-12509(C50)

A NEWS 2

/A COMPONENTI INNOVATIVI TECNOMECCANICI




CONNECTION

Sy
T
g
C

5 H

76
106

\

\

§
faNIN/a
U

/
N,
M
N

2

(=}

35
72
85

J

- PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS
5 t

I
R — |

70 25 20

40

KNTEK B

03

30

50
V)
WY

D

)
e

1@ D

155

CLAMPING CLAMPING CLAMPING COOLANT SCREW
CODEN.  |SCREW1 (M10X25)| SCREW2 (M10X16) PLATE NOZZLE SPACER FOR SPACER
= = o ] B -
] =i m & —] ) & & ——3
KMS-T00076 811-104030 811-104028 832-002117 833-001090 832-002116 811-101046

componenT iINnNovaTvI TECNOMECEENISIESS



PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS

60

© < o
s 3
}

%;

©
4 .

g3 3
140
CODEN CLAMPING CLAMPING SCREW FOR SPRING FOR COOLANT PIN
. SCREW PLATE CLAMPING PLATE | CLAMPING PLATE NOZZLE
H—& o B3 I | —
KMS-T00158 811-104030 832-002095 811-302004 824-101010 833-001110 815-220008

PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS -
- 50 A A

o Il

60

KINTEK B

8 I
B 90 _
CODE N CLAMPING CLAMPING COOLANT
: SCREW PLATE NOZZLE
=i © |
KMS-T00174 811-102040 832-002095 833-001080




PORTAUTENSILE ASSIALE - AXIAL TOOLHOLDERS

M10

60
©

1

Al
\

106

) o
&

o

1A
hd

D ©

A

160

CLAMPING COOLANT
CODE N. PLATE NOZZLE

= | |

KMS-T00082 832-007500 833-001080

12
PORTALAMA - CUT-OFF HOLDERS .
A
_ 3 E
. A z
o @ !
} @ E: © T |
5
o L2
g ! o

CLAMPING

[ =i
L] =

KMS-T00156 811-104023




PORTAUTENSILE TRIPLO PER BARENI
TOOLHOLDER FOR BORING BAR

o~

ot

40+0.02

106

CLAMPING COOLANT
CODE N. D H SCREW NOZZLE
‘ /f:i \
\ A= ]
KMS-T10036 40 69 811-102039 833-001110
KMS-T10044 50 74 811-102038 833-001110

PORTAUTENSILE TRIPLO PER BARENI
TOOLHOLDER FOR BORING BAR

KINTEK B

©
©

H1

: RSP :

® T @
R
HH@@

40+0.02

80

106

4.6_
— 65uﬁ @ @
160

CLAMPING CLAMPING
CODE N. D H1 SCREW

COOLANT

SCREW NOZZLE
= = ‘
L e =
KMS-T10038 40 73 811-104030 = 833-001090
128-22519 50 76 - 811-102043 833-001090




PORTAUTENSILE COMBINATO PER BARENI E PUNTE A INSERTI
COMBI TOOLHOLDER FOR BORING BAR AND INSERTDRILL

o,

40+0.02

106
@
f

1 @

CLAMPING CLAMPING COOLANT SCREW
CODEN. | SCREW1 (M10X25) | SCREW2 (M10X14) NOZZLE COVER FOR COVER

| /— ©.° gi

—a [ | T3
KMS-T13064 811-102039 811-102060 833-001110 832-003063 811-101016

PORTAUTENSILE PER BARENI - TOOLHOLDER FOR BORING BAR

79 62

L/

KNTEK B

=
-1 K gt
Ly |
s 7 -

106

CODE N. CLAMPING COOLANT PIN

SCREW NOZZLE
=
G ‘ [ —
KMS-T10086  811-104021 833-001110 815-210170




PORTAUTENSILE PER BARENI - TOOLHOLDER FOR BORING BAR

79.5 62

%
N

-
AN

L]

gtV
@

109

85+0.02

T
$

34
2

]
&
7
i
‘o
=

106

EEERE

120

CLAMPING COOLANT
CODEN. SCREW NOZZLE
= !
e
KMS-T10208 811-104021 833-001110

KINTEK B

PORTAUTENSILE CON USCITA POLIGONALE
POLIGONAL TOOLHOLDERS

0 O | A%

[
4510.02

1

106
na—
!
EN
NS4

CLAMPING
CODE N. CAPTO D H L1 UNIT
128-12526 C40 40 69 12 CXC40-10
128-12509 C50 50 77 14 CXC50-10

T INNOVATIVI TEGNOMEGGANIC!




PORTAUTENSILE CON USCITA POLIGONALE
POLIGONAL TOOLHOLDERS

D

30
—r

27

K NN »
D | ¥ €

—)
! i
B

106

CLAMPING

UNIT
128-12527 C40 40 53 128 14 38 CXC40-10
128-12513 C50 50 65 139 22 54 CXC50-10

PORTAUTENSILE MOTORIZZATO ASSIALE
STRAIGHT DRILLING AND MILLING HEAD

30

KNTEK B

|
|
I
/// |
/%h 1
- i ‘
|
=] | i
o
N
e
. &
MAX SPEED MAX.TORQUE | INTERNAL P
CODEN. ER H (Rpm) ' (Nm) COOLING Bar
124-00001 ER32 55.5-60 6000 1:1 70 no -
124-00002 ER32 55.5-60 6000 11 70 yes 80




A

CODE N. MORSE D H
KMS-T22042 3 23.825 108
KMS-T22046 2 17.78 96

PORTAUTENSILE MOTORIZZATO RADIALE
ANGULAR DRILLING AND MILLING HEAD
=
o+ 3
. L«
N I U
CODE N. ER H h ) MA@%,FT’]')EED | MAX-&%‘QUE N o
) BUSSOLA PER PORTABARENI
¥ DRILL SOCKET FOR TOOLHOLDER
L
Z
4
KNS QT s : 3 =
Nk I
L =




BUSSOLA PER PORTABARENI
BORING BAR SLEEVE FOR TOOLHOLDER
_»10 - 33 _ L ~
1 | T2 [T A
i g
Y 5 Y
- % :

BUSSOLA PER PORTABARENI

@
BORING BAR SLEEVE FOR TOOLHOLDER v
Ll
I_
Z
L2 L3 !
<C
(A
5| 1o1- 8| 4P
L S /
L1
CODE N. D o} L L1 L2 L3 .\ D1
165-64241 40 16 74 88 9 51 14 48
165-64243 40 20 74 88 9 51 14 48
165-64244 40 25 74 88 9 51 14 48
165-64245 40 32 74 88 9 51 14 48
165-65017 50 25 84 98 9 61 14 59
165-65018 50 32 84 98 9 61 14 59
165-65019 50 40 84 98 9 61 14 59




BUSSOLA PER PORTABARENI
BORING BAR SLEEVE FOR TOOLHOLDER

10 _ 295 L
T“@10 ’L
—> -
2| ‘ |3
Q * IS
79
-t L
86
-
CODE N. D L
KMS-T20122 25 29.5
KMS-T20120 20 29.5
KMS-T20118 16 29.5

KMS-T20116 12 29.5
KMS-T20114 10
KMS-T20112 8

BUSSOLA PER PORTABARENI -

;‘2 BORING BAR SLEEVE FOR TOOLHOLDER
LLl
I_
Z
v L2 L3
/—x
sl a1 N ) // / ‘
S W K / Q ﬁ
L S
L1
CODEN. D d L L1 L2 L3 A D1
165-63347 32 16 64 76 8,5 42 13 39
165-63349 32 20 64 76 8,5 42 13 39
165-63350 32 25 64 76 8,5 42 13 39




SL150
SL153
ZL150
CL150
DMG MORI suisa CMZ s
SL153MC
ZL150MC
SL154MC
Direct mounting
onturret
Qualified tool
20x20mm
<
Faceand OD.
cutting holder — -
(Onlyfor CL-150) Faeand OD.
;I/ cutting holder
KMS-T00108
Faceand OD. —
cutting holder T Face and LD.
cutting holder
KMS-T00080
Boring bar holder ACCESSOR'ES CONNECTION
@32 mm
o H @
Boring bar sleeve \_h
& Y
KMS-T20122 (@25 mm) \
x KMS-T20120 (@20 mm) k g / R 3|
Borngbarolder T Q KMS-T20118 (@16 mm)
KMS-T20116 (@12 mm) I~ Pany
g2 T KNS-T20114 (@10 mm) | () (} -
KMS-T20112 (@8 mm)
2 30
65
Cover:832-003062 Boring bar sleeve 75
Combi toolholder =
for boring bar and ._/ 16563347 (@16 mm)
insertdril with internal — @ 165-63349 (@20 mm)
coolnt | 165-63350 (925 mm)
@32mm
Boring bar holder
@25 mm Boring bar sleeve
= 165-62545 (@12 mm)
- @ 165-62547 (@16 mm)
165-62549 (@20 mm)

KNTEK B




CONNECTION

1 &
>}\J W/ ]

N A

&

A

U 2 e e
D !
L/ !

| W |
Y

12
- PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS
V2
i
Z . O
¥ Do (e

© AN

¥\

o B @

20

90

. 40
A

s

115

CLAMPING COOLANT
CODE N. PLATE NOZZLE

=l |

KMS-T00078 832-007200 833-001110




PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS

45

35
N

40

90
40
b

e
8

CLAMPING COOLANT
CODEN. PLATE NOZZLE

=] B

KMS-T00146 832-007200 833-001110

PORTAUTENSILE RADIALE - RADIAL TOOLHOLDERS

L N

d R

D D

KNTEK B

50

90
40
40

D D

B 120
CODEN CLAMPING CLAMPING SPRING FOR SCREW FOR COOLANT
: SCREW PLATE CLAMPING PLATE|CLAMPING PLATE NOZZLE
= o L |
KMS-T00108 811-102031 832-002096 824-101010 811-302004 833-001110

COMPONENTI INNOVATIVI TECNOME 21




PORTAUTENSILE ASSIALE - AXIAL TOOLHOLDERS

40

45

90
7
(5 /S
@
AA
N2

CLAMPING COOLANT
CODEN. PLATE NOZZLE

=0 |

KMS-T00080 832-007200 833-001110

PORTAUTENSILE TRIPLO PER BARENI
TOOLHOLDER FOR BORING BAR

'b‘l\ﬂ
S > W{

KINTEK B

A
/

35+0.02

CLAMPING COOLANT

NOZZLE
| /— \
\ =
KMS-T10046 811-102031 833-001110




- PORTAUTENSILE COMBINATO PER BARENI E PUNTE A INSERTI

PORTAUTENSILE TRIPLO PER BARENI
TOOLHOLDER FOR BORING BAR

60

<5
35£0.02

70
90

CLAMPING COOLANT
CODE N. PLATE NOZZLE
—€ )
KMS-T10052 811-102030 833-001080

COMBI TOOLHOLDER FOR BORING BAR AND INSERTDRILL

@@j@vﬁ

SR

KNTEK B

60
&
©
©

3540.02

90

CLAMPING SCREW 1 | CLAMPING SCREW 2|  GOOLANT SCREW
CODEN. (M8X25) (M10X14) NOZZLE COVER FOR COVER
5 = | N ==
KMS-T13066 811-102031 811-102060 833-001110 832-003062 811-101016




PORTAUTENSILE TRIPLO PER BARENI
TOOLHOLDER FOR BORING BAR
L S S
I T
3 3
¥ 24
D D
120 @ 20
! ©
| D D
3 120
CoDEN. | CgfEW" | Fomt
1—€ )
12
- BUSSOLA PER PORTABARENI -
¥ BORING BAR SLEEVE FOR TOOLHOLDER
i
Z
. 10,295 L
@10 -
A * : ‘ i
g 3
Y f S Y
. B -
CODE N. D L




BMT, BOLT-ON, DIN69880 HOLDE-

BUSSOLA PER PORTABARENI
BORING BAR SLEEVE FOR TOOLHOLDER
L2 L3
<C
/ /_x
sl LA N o / ‘
Q \S4 \_ / = ﬁ
L S
L1
E
165-62545 25 12 54 66 8,5 32 13 32 811-102028
165-62547 25 16 54 66 8,5 32 13 30 811-102027
165-62549 25 20 54 66 8,5 32 13 32 811-102027
165-63347 32 16 64 76 8,5 42 13 39 -
165-63349 32 20 64 76 8,5 42 13 39
165-63350 32 25 64 76 8,5 42 13 39

—
N

<NTEC |

= |
o --————-—'—ﬁ___ —-
-

COMPONENTI INNOVATIVI TECNOMECCANIC| /A




CTION PLANT HEAD OFFICE MAIN PRODUC
T.SE-TORINO - ITALY  KINTEK S.R.L. - MAPPANO - TORINO - ITALY  KINTEK TOOLING KFT - B

KINTEK s.r.l.

Via Goretta 88/G - 10079 MAPPANO - (TO) - ITALY
Tel. +39 011 99 68 065 - Fax +39 011 99 65 662
e-mail: info@kintek.it
http://www.kintek.it



